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BR (4] | (4] 3 5 (41 | 31 | (4] 4 (5] 36
B (4) | (4 | (4 | 3] 5 (4] 3 (5] 4 36
F6 (41 | (51 | (3] 5 (4] | (4] 3 (4] 4 36

B | TL—Yv—K4 R XA 4 | ¥Oox | HDCP TOTAL

1 )il F=E 48 45 93 25.2 67.8
2 RIS IERR 44 42 86 18 68
3 Eim 1E 42 43 85 14.4 70.6
4 N R 47 48 95 24 7
5 EH BX 41 39 80 8.4 71.6
6 WA % 48 37 85 13.2 71.8
7 FEN 50 47 97 25.2 71.8
8 WHE BAX 46 44 90 18 72
9 FR R®/A 49 40 89 16.8 72.2
10 fERK FiE 42 39 81 8.4 72.6
11 ik I51E 40 40 80 7.2 72.8
12 R R¥ 38 42 80 7.2 72.8
13 He #8— 47 39 86 13.2 72.8
14 HE E1T 43 43 86 13.2 72.8
15 R B 45 53 98 25.2 72.8
16 HE XX 55 48 103 30 73
17 ik XEX 41 43 84 10.8 73.2
18 £ 47 43 90 16.8 73.2
19 =28 &5 41 42 83 9.6 734
20 =V X 52 43 95 21.6 734
21 kA #Ex 39 36 75 1.2 73.8
22 BE A8 47 46 93 19.2 73.8
23 %8 HHE 53 46 99 25.2 73.8
24 ATH Fi 48 44 92 18 74
25 SR TR 43 42 85 10.8 74.2
26 BH 2 45 44 89 14.4 746
27 FEEF S 48 47 95 20.4 746
28 FElR XEF 50 49 99 24 75
29 ¥ IER3 53 46 99 24 75
30 NE BEA 45 41 86 10.8 75.2
31 fhEE Ex 47 45 92 16.8 75.2
32 R = 46 45 91 15.6 75.4
33 B BHX 55 42 97 21.6 75.4
34 ERK FF 52 51 103 27.6 75.4
35 M =2 48 48 96 20.4 75.6
36 #EHE E=AE 53 47 100 24 76
37 AH #=— 55 50 105 28.8 76.2
38 WA Ht 46 45 91 14.4 76.6
39 FE# IE 44 53 97 20.4 76.6
40 ;IO SRAER 46 43 89 12 77
41 fRA #mx 53 48 101 24 77
42 B fEH 47 47 94 16.8 77.2
43 5% X 47 47 94 16.8 77.2
44 HE EER 53 47 100 22.8 77.2
45 T F= 55 57 112 348 77.2
46 BEE X 54 45 99 21.6 77.4
47 E 44 48 92 14.4 77.6
48 thE HE 50 48 98 20.4 77.6
49 fRig B 55 49 104 26.4 77.6
50 niE E=E 55 55 110 32.4 77.6
51 Hth ©F— 47 44 91 13.2 77.8
52 Bl FiE 55 51 106 276 78.4
53 i 7 N 49 54 103 24 79
54 AKXk IEFT 45 51 96 16.8 79.2
55 EHE BEE 55 52 107 27.6 79.4
56 E A{ZX 51 60 111 31.2 79.8
57 Rl BRUA 49 48 97 16.8 80.2
58 INR FE 50 53 103 22.8 80.2
59 %8B EKF 58 44 102 20.4 81.6
60 =k —H 58 48 106 24 82
61 s N— 50 49 99 16.8 82.2
62 #]mAR JR 59 52 111 28.8 82.2
63 BRAR E= 54 48 102 19.2 82.8
64 PR 2 60 59 119 36 83
65 [RE BEX 52 48 100 16.8 83.2
BB AIE #F 68 52 120 36 84
67 TH FE 58 52 110 24 86




